ues 8¥F
few mifamrfe fee AT Yer :

« §iF anelsa feniaa € 9d1

« FiT aNfelsa feniaa € ve W3z gevat & g5/

 TH T @R U T gIesuT @ 591

« FOUE § UlgFTHT a95 §'d |

» [onfFaa w3 sgue € E9 #isa 53 |

« e yel, € yel w= G5 yel @ 99

« RNTE T HEWE YT 8f yfaerE & 93 |

« HPUE §iF gielsa fenimar § 735, we€e w3 GasT et gt € 571

o [ouima ef giET onar WIfET ©F UFTEm WT WETE ©F MIPIE MW
afsar dies [F9 Qudar & 931

. IIFANET g FEaEl My Baat e dlsa Ales [Eg Gutiar & g9 1

8.1 fewiwa & W3®¥ (3fHaT) Meaning of expressions (Introduction)

fugshyt st fee vt ot afefsa fevinat (e fros fewmeh) € o9 &9 Feamdt
YZ g9 99 I | g Sifefs foniag, a8 i nes a8 5S35 1 2x + 7, Txy - 8,
Jxr5. v+ 8, ¥+ 7 ufe felmar i Qergest 75|

femiae 2x + 7 98 x W3 wEs 2, 7 &% getent famm & w3 fontaa Txy - 8 & 957
x MZ y T WO 7, 8 578 gerenr fopur 71 few 33+ ol 39 < feniva’ a9 €7 Hae 97|
8.1.1 =7 aifefsa fewimar & U& (Value of an Algebraic Expression)

T feniva &9 9% A »ew € GeT S UE 8 Fav 75 | Foning © 98 o7 U8 99582 5%
fevina v = We 5ew areT 7| 8vwos =, foniAa 2x+ 7T seTdAag x =2 92 3T 2x+7
=2x24+7=11"3 Add x=0TL 3T 2x+ 7=2 x (4 7 =7 T=ar »fe | feq 35t x T Sug-
YT HE 995 &% AT feniae 2x + 7 ¥ SUT-249 IS YU 89 Aaw I5 |
8.1.2 Afiyr Iy T feniaa (x 9% fE9) (Number line and an expression)

WE B foniaa x + 3. 1At HE 8% 97 fa Al 99 '3 98 x. & 0579Wd Ha=T J, §F
Fftpr gy 'S mfa=t X T

X, Afiprr §ur '3 fAge © AT UA fa2 & T reer 71 fer et x + 3 S Afast A XE A
i 3 fearet € gdt ‘2 9=ait)

0>  sve 3 A



few 2t x - 2 T Afgat, « & ¥ w2 fegret & gt 'S T2t Fae widt o= 3x + 2 (fAE
x UETIWE o) € Bfagt ugT geaT gge ox, 3 3x of Hiest (fEw =7 x) B '3 9=t

=X =X =2 Ae—%x D2

fen ®et 3x + 2 &1 Afg=t C, B €@ Ha uw 2 fearet € gt ‘2 d=ar|
8.2 U¥, gIe5ud MT TEH (Terms, Factors and Coefficients)

yw fea Afvpyr AT 98 AT A= WS 987 T JI6es dv J | UeT § A § formw
gaur ¢ fen BEt 4, x, 4x W 4y UE TS|

WY f35 Ue 4x, 3y w2 8 8 of | feust uet & 73 o it foriaa 4x + 3y + s YUz aue
TT I UE 4x, 4 W x ©T ITEEE T, fAF 40T x, 4y © IE54F T5 | Fefd U 3y, Wiue argayusT
3WF y O JE6e8 | UT 8 a=w g Afum 8 3 gfenr 3

fenive oxy - 3x & © URt 9xy MF — 3x T | UE SxydlSous 9, x M y o7 J/Saes O Iue
- 3x, TEEAT — 3 T x O gE5es 4 | far uw e Afimrave gresde § Gner Afmrava
=T A I HHT TS| UL Oxy 2T = 9 T W U — Ix =T g=w —3 7|
8.3 ffx ust, ¥ uetl, 3% uel (Monomials, Binomials, Trinomials)

G feima fan fEg ffg vt ffar 3 feprme ue T2, fare gt s Rsfea g Wz WS
ygE wiprr 92, & ggue FfE99 95 | sgue St Geraest

3x+ 2y, ¥+ 3x+ 5, ax+ by + cz+ d W]

« G0 sgue for S a=s feg ue 72, & Ba-ustafde o5 | IR 4, 3x 4y, Txy 8xly,

dxytnrfe |
» v wgue fan feo a=w € ue d=, § e-yetafde o5, fAs : 3x + 4y, x - 2y, ax + by
e |
o Qumgue far o dew Ao ue J=, § S uetafde o5, fAd x2 3x+5, ax + by
+cz WrE |

8.4 AHS M= WAN'S UT (Like and Unlike Terms)
Ha9 Ut T 9% T Wt AE (g9TET) 9 I 80 mE uw vy o | foost f&

) s - 21 L .
gy fas T Aaer 7| few BT 3y, —dy, 37 TS ue O | few 397 30w - 11¢ As U
& M 4ab, ~21ab W3 11ab 1 AHTE UT 95|

faog v wrur &9 mrs a0 ¢ 8T wimis ue vy 8T 0% | fa= 7x w3 4y nias
e 75 fa@fa feost © o widar-wdar o0& | fof 397 73w 4x & vivs T, fa8fe feast
few feast Tt wrat Sught o5
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8.5 " fenima® & A% M3 W@ (Addition and Subtraction of Algebraic
Expressions)
fusst AnraT fET wiAt feg it T fa 9w afesa fenimat & far =57 Afewrr g
wetfemT 77 FareT 9, We o fa dTes sEt a2 A =% 999 feime § wAt fy-2y agrat
fe= feue Of, fem =g goe A »iFT Ans uet § 89 g € Ja" faue 9 A e Tt
forr <t ifimr & weBer 8ne Farove Ge & A=s =9ar 3 Ifer =gt 4 §uweBer +4
gAags e s T, fersgrsyfweSes sySAgs e s 13 § welT 3 § §9s
& s 3| fom wet s v & it worBer ordw 75, OF & i uet w gt & e
fegr arer 7| fen 3 999 oRet a2 € 999 UE © J&T SNt a=w & fav fiw = few
" feg rofesT fuset 3 fa fen <o faost fafonr aist =t T | fen Aasy § miee w9t
Jat fostt Googst 7
Eewaw 8.1. I €3 fewimar e Ag yz a9 ¢
() x+y-2z M3 2x-2y+ 3z
(i) 2x+3y-dzmITx+y-4
(ili) Txy + Syz - 3zx , dxy + Tzx M 3yz + 4
dw . AHE yer § e gRe € dat v 7 feniaat § -2y st e faue T, rd fumer 31
(1) X +y -2z
2x—2y+3z

3Xx-y t z
(i) 2x+3y-4z

x+ y —4

Ixt+4v—4z—-4

fer fe9 4z W34 &t Jet =t mis ue &1 )
(iii)  Txy + Syz - 3zx

dxy + Tzx
Jyz +4
llxy + 8yz + 4zx + 4
Seaas 8.2, weg

(i) 8a? - 3b> 8ab+9a - 7h €5 5a2 - 3ab+4b 7
(i) 8x+5z—x2-y2+7 [T x+3ydz+ 2y

11111

&9 faue o8 we§ gatar|
(i) 8a®-3b'-8ab +%9a —7b (i) Bx+5z — x* —y? +7
53_2 —3H.b +4h —-,l|I x_#z +x2 _}r.z +3}r
+ 4 s +
32— 3b°—5ab +9a —11b+7 7x + 9z — 2%° T =3y
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Geaas 8.3. 2x 3y + 422 MF —3x+ 8y + 122 -4 ¥ AN & x + 3y 5z + 7§ we€ |

98 |

ufast et fenfaa® 2x - 3y + 4z - 23 3x + 8y + 12z - 4, & 779, e fa it
Ufgst A5 95|
2x -3y + 4z-2 I AT WETE TET x +Sy+Hl6z-6 T x+3y-5z2+7

-3x+8 + 12z-4 —x+5y+16z-6
-X +5y+ 162 -6 x +3y —52+7

-|- :
2x +2y+21z- 13

) e AR

féq g5 wi= & 95T o8 fonivat o Ua Geaast i)
g5

(i) x98% % & 3 §Ue 5279 :

(i) xMIyI8 & T T UST T 3 gous 5275 |

(iii) xWT vy o8 & F Faye T 3 sgue 5575

(iv) 979 77 99 2 ferer yef &8 3 sgue 5276
dat fefimt uat & ars € I mis ue fad |

(i) 7x (i) 3ab (iif) 7=ty (iv) 2Im
JoT fey fenimat €9 goa & ue™ Wz g=far & ufoes |
(i) Sxy-3zy (i) 2 +2x — 3%’ (iil) 4x*y? — 42° + 3xy

(iv) ab+bc+abc+7 (v) ——I— Y + 2%z (vi) 0.3a — 0.5ab

3
(vii) %HHE}* (viit) 0.4a — 0.6ab +3b*  (ix) 3xy* + 3xyz — 6%°

Jat fay sguet & fifg uet, © ush, #2 fEa ust © gu <9 =aaflaes as | faosr
mfea#ﬁﬁ‘ﬁaﬂw%hﬁfé‘a%’rmﬂ‘a ?mé“h%‘ 7

(1) 3x (i) y (iii) 4

(iv) 3x -2y (v) 3-"£+ 2 (vi) x +y+22

(vii) 2x -y +7 (viiija + b +¢c (iX) x — v + 2z

(x) ldxPyz () x* - ¥ (xii) a?+ b*+ ¢
gt fefun o 93 a7 |

(i)  ab + a’b — 3abc W= dabc — Ta’b + 2ab + 3
(i) x+y+3z-2xyz™3 2x+3y+4z-8
{lli} %32 —}rlr }’1—31. 71 xi

(iv) x—y-y+tzg z-—x

{1.-') szjr-? - 3?5}-' +4 :Hé- 5+ TK}-" 3,‘1},3

(Vi) X2+9-2 - x4
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10.

w=g

() 13x-Txy -6y +8FFF 5x — 3xy + Ty + 18

(i) 9¢m + Tmn + 13nf fS9° 2¢m + 3mn — 8né

(iii) 3ab — 2bec — dabe f&9" ab + be + ca + abe

(iv) dx— Txyz €9 2x 43y + 4z + 3xyz

(v) 0.7x+ 0.8y - 9xyz &9 0.3x + 0.2y + 2xyz

(vi) 2ab — 2bc + 2cd — 2abe &5 ab + be — cd + abe

Jot Ty foimat f&o ufod © fevimat © 73 S99 29 fenivg & wed)
(i) 2ab + bc— cd, abc + ab — 2bc, — 2bc + 3ab

(i) 2x+3y—2z,x—v+3xyz 4x + 3y —4z + Txyz

(i) 02x+03y+ O0dxy, 08x+ 0.7y, x +vy —0.6xy

(iv) Txy+3x4+2y-3z x+ty+2z 4xy-x-y+4z

(v) 03xy+ 0.2yz, O4xy + 0.3zx, 0.2xy + 0.2yz

(vi) O.dxyz + 0.3xy, 0.7xyz + 0.2xy%, xvz + 0.4%y°

Ao (g3 et et feniaa @ gu - 5x + 6, 3 - 3x°+ Tx M 11x°+ 8x - 11 &9
I& 3t @n fggw e ufawy s 89|

g-feamut yas
(iy Ty-5f&wyerasia 71
(a) 7 (b) -5 (c) 5 (d) 12
(i) feosr fEgueta?
(a) Tx+5 b)x+y+z (c) 3x* (d) 53-Tx + 6
(iii) & U=t ufge=|
(a) Sx+2 M)x+x+1 (c) 6z (d) i
(iv) J& =y feniaa® (€5 3= uet €71
(a) Sxy-3zy (b) 2x—y+7 (c) x—y+2z+4  (d) %°+3

(v) dat fefawt iS5 faos feniva ms ue oa'?

(a) Tx™3 Ty (b) 3x W= 3 (c) x2 M 3% (d) %2+ 3
(vi} 2a—b™Z a—2bT AF S T=Tr?

(2) a-b (b) 2a - 2b (c) 3a-3b (d)a+h
(vii) d& fezr foge fan & saw@er a7/

i —3\e—i—> -
A B < ——C
(a) x+3 (b} 2x +3 {c) 2x -3 (d) x*+3
(viii) feWiFa 3x 5 .o T
(a) fEguet (b) T u=t (c)fSauet  (d) fegt o5 &<t
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(ix) -5x+Txyfoniveeucfoos oz’

(a) —-Sm=7 (b) —5x W= Tx (c) —5x WF Txy (d) -5x WM Ty
(x) ab—be, bc—ac, ac—abF AT

(a) O {b) ab + bc + ac (c) abe (dyatb+ec
(xi) AT Ix-SE HEx=53"FUaTaa|

(a) 5 (b) 10 [c) 15 (d) 20

8.6 i arfesa feninat @ greses @ (Multiplication of Algebraic Expression)
(i) T=t ez et € Uzgs & &N |
eas

gIat &t | awdtEr | et of dF Afar
A Aftm
" " & 8 & & =8 n 5 g 5« 8
A eI (gt < o i a0
" ® ® @® ¥ % @8 @a Eﬁﬂ"‘éﬁ"ﬂ"‘ﬂ{'#ﬁﬁw
b S T FTEHT S At § =T
gaaT 1
B 6 5 6 %5
j "
I'---:_-_;- m f m = n
mtt:____: ﬁﬁ'mﬁmmlﬂé‘
e e areHt &t Afenimn 3
i+l
e e mmeees ||| HEL | BT (m+1) @+ 1)
EFARWE L S fog gz =t ffiwr
v e pe===wp (m+ 1) v araut &t Al
(n+1)TI

(i) wwl few 39T &bt 39 Afasti 579 A9 Fae
g+ fg frgt fEe & Hiv afsfzs fenimat &
=t ggaT et a= | |
R nfes T isges go aee g darf« b (b-1x
der T faw f&9 ¢ 3ot b F=Et T ‘
A< wifez €f &uvet 2 fearet =ur foat A, - ' >
W= gt 1 feaet ufe a9 fdstae st st © €42
WTes BT H39e% (£ +2) % (b 1) T=ar|
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(ili) Fag WAl THFHT yatee Of 3T ATE =Hgw S Afwt & Gaat € feaet s aw
greT gaat et O |
He a8 g aiterds -z p
faatut it & Fgeg 7 = q
Ag 391976 d96T URar =X (p < q)
¥s w2, ffq anit e s ¢ 1 o gfer T w2 g &f wges 2 Sualdt g =t
ffgaiterastis =< (p+1)
WS gnibsr o =T Jiggg = q + 2
I  JEEEEETE@EUSIT =T (p+ 1) (gq+2)
Sude= Aoty Beogst &9 Arg Aet gEPHT ©1 gieT ®F 89 d, ue ey feg
AraPHt It femirer © gu fEe o5 fer w8t g feg uzr Jer adler 3 fa
Treaes fan 33t U= &7 7 FaeT 4, AF 3 ufost wiet ffe uet & fa uet s
areT gaaT fige ot
8.7 ffmr uet & fexr uet & @@ a9&T (Multiplying a monomial by a mono-
mial)
8.7.1 € [¥x ugt § gre™ a5
wHf gree o fg e, s e-e e Ag T gy I

fae 4 x3 & HIBY 4= 3

= 4x3 = 3+3+3+3=12

fer=gt  4x(5y) = Sy+Sy+Sy+5y=20y

GES 5x(3%) = 3x+3x+3x+3x+3x=15
g= J&' fad gEsest T fegg gae |

(i) vx3x = yx3xx = 3xxxy=3xy
(1) Sx x4y = Sxxx4xy = §x 4xxxy=20xy

(iii) 3Ixx(=2y) = Ixxx(Dyxy = 3 x(=2)%xxy=—fxy
&2 gq fa & ffa udht e greaes =t i ugt der 71
g= It fexitt Geraast 'S fegg a7
(iv) Sxx3xF = Sxxx3Ixxd

= (5x3)x(xxx) = 15 xx' =155
feg it wrat & fao e y&ar 1= 3, fan dig faze Afier ' 88t (am « a2 = am+ )
(v) 5x% x (—dxlyz) = (§ x 4) x (x* » %) x (yz)

=20 x'yz
8.7.2 3= 7 femrer Fa ueit § T agaT
dof feiinft Geraes’ '3 fegg a9 -
(i) 2x = 3y <4z =(2x <3y) = 42 =6xy * 4z = 24xyz
(i) 2xy * Sxiy? » 6xy? = (2xy * Sxiy?) x 6xy?
= 103 x 6
= (10 x 6) x%* > xy’

— 60 (2 x x) * (y' X y) — 60xy®
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e fea Fume ger T fa wirT °Ag = ufast & fea uetr § 3= age o w= few =gt
Jeaes ¥ gV €9 yu=z 7% § Siel USt 7% I=T 909 Yda 9% YU goe J7|
&z : vt fEa ueht & fa =t v &9 a2 a@ mae of | 99 g &9 €9 mis

J=ar|
Gemes 8.4, ¥a wifes faret dwet wiZ vt 85T 391 3, & 439ew usT a9 vid Aeet yar a4 |
saret garet HIIEH
3x Sy
4x 2x
Ixy Ix
a% et gt EECL:]
3x a3y IxeSy=((G=5)*x*y=lixy
4% 2x 4x = 2x=1(4 = 2) % (x * x) = 8%
2xy 3x 2xy % 3x=(2 % 3) = (x x x) ® y= 6%

Gomas 8.5 weTe (wifeserg ganT) e wifegs usT a9, A feast et saret, 837t w3 Gaet
It fadt T
(i) 2x, 3y, 4z
(if) 2ax, 3by, Tez
(iii) 2pq, 3qr, 4rp

dwm: wEe e wTess =/«bxh

fer et mirfegae gan e wifezs
(i) 2xx3yxdz=(2x3 x4)x(x)=(y) % (2)=24xyz
(ii) 2ax = 3by x Tcz=(2 % 3 x 7) x (ax) x (by)} * (cz) = 42abcxyz
(iii) 2pg % 3qr x 4rp=(2 x 3 x 4) % (p x p) X (q x q) * (r * 1) = 24p*q’r’

b i A

1L (i) ¥ fEa ushit o g8l e .
(ii) 35 T YTt 7 TAEEEE ovorvervrnenrosanens «

2. 5 fey ffa uet afaw e gresew usTag |
(1) 8x, 3y (i) 4. 2x (ui) ~4p, 3q (1v) 8p, —3pq
(v) 3xy,0 (vi) p’. 2pq (vii) 2p, 3pr (viii) r, 2p

3. J=f fou vfewt € gu i€ davt iz I3t due o8 wifest o uswes usT a9 |
(x, ), (24, 4m), (10m, 6n), (3mn, 4n), (9a’b, 13abc)
(2ax, 3pr), (3ron, 4np), (2p, pqr), (3x%y, Txy?)
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4. FEsen ¥ A5t & YaT &4 |

fer wet—0 | 2x -5y | 2% “3xy | 7ty | —9xiy?
grat fex uet |
_E}r
Ix
},1
—4xy
25y
5. Eses UsSTaEd|
) 3x 4% - 7 i) 2. v d o2 boe
{_t.} X axs, — X {I) <ZX, 2, 92 {111} 2 fa 3 2 4
x'y
{iv) ab, abc, abed (v) = Oy?z, —8z'x (vi) —3pgq, 4p*°
6. wfEsTEg gAfAMT BT wifess UIT a9 dud feost & suvet, 997¢ WS GuTel gHsg
& feut T
() =xyz (1i) 2x, 3y, 3z (iii) 2a, 7b, ¢
3 4;,' 5 5 a_h?. h 3 g 2 ...a... .].-:.,-. E..
(iv) 4/, S5m, 6n {v) ab®, be®, ca {vi) 2’32
7. wg-feasut ums

() feguwet s e wtas ge o 'S s yusderd:

(2) fea uet (b) & u=t (c) f&= u=t (d) Fet =t &1
(i) vt dudtasgeraes TR yuz der i

(a) fEgu=t (b) & u=t (c) fF3& v=t (d) gt =t aat
(i) 3x W Sy &7 T=AeS UITF9 |

(a) 3xy (b) 15% (c) 15%xy (d) 15y
(iv) 3am= Tab ©F IIE588 UST &9 |
(a) 2la*b (b) 15a+21ab  (c) 21a’b (d) 2Z1ab
(v) ez € y3aes U3T ga Had eH ST gam=t 2ab W3 Ibc I=|
(a) 6Gabc (b) 6ab’c (c) 2ab+3bc (d) 6+ab+bc
(vi) W= 2T WeIE UST a9 A9 feRamt A= a’h, blc W= ca.
(a) abe (b) a*hic? (c) a’bic? (d) a’b + b’c + ¢a
8.8 ffg uel & sgue &% geT g9&T (Multiplying a monomial by a
polynomial)

8.8.1 fFa uet & € uet &% TreT JI&7
WHT fEa U=t 4x § € UST (5x + 2y) &% JIET dow JT,
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T 4x % (5x + 2y) UZT Fae TT|
ferd T a9s & wet vt g © =3t & famy e Quder sg ot
FER SET 4 (Sx+ 2y) = (4x % 5x) + (4x % 2v)

= 20x* + 8xy
feg wirt eve ot fa g uet M3 @ uet er greses & uet der
fEﬁ?c]‘r (4x)x(-5y+2x) = {(—dx * =5y) + (4x % 2x)

= 20xy — 8x?
&e— a9 wAt € Ul § fEg uel 578 gie go¢ of FF S it g9 @ yel It yus gae
gt w= vt I & gH =efear famy ©f =03 <1 a9 Raw Of |
Semg9s =7 (a-7b) * 2b=2b ~ (a-Tb)
=2b % a + 2b  (—7b) = 2ba — 14b?
= Z2ab - 14b* | ab = ba]
8.8.2 fEq uet & 3= uet &5 TeT Jos
5a (a%+ 2a + 3) &= | o5 wit arer €09 A5 © S3a7dt © (o = Qudar aatar|
Sa(a’+2a+3) =(5a=a’)+(5ax2a)+(5a=3)
=5a*+ 10a’ + 13a
Bergas 8.0, fowiva & Aa® g9 W faood MEAe HS U a9 |
() x(x+3)-2x=28LT(ii) 2y3y-7)—2(y+4)+5 y=-3¢ 5T
d®: (1) x(x+3)-2 =x*+3x-2
x=2; FBE =(2P+I*x2-2=4+6-2=8
(i) 2y(By-T7)=2(y+4)+5=6y'—1dy -2y -8 +5
= 6y — 16y — 3 (NS uw fEas ad)

y=-3 ¥ &l =5 {-3F =15 » (<3) -3
=6x9+48-3
=54+48 -3 =199

Gegas 8.7, AF|

() 2y(5—-y)WT 6y + 14y +7 &1
(i) 3x(x*+2x-5)MIT2(x'+Tx-2) &I
IE L () uloEfenEa =2y (5-y) =2y * 5 -2y x y= 10y - 2y*=— 2y + 10y

g ufad w3 e fenima & 738 T
-2y + 10y
+oy! + 14y + 7
4yt + 24y + T
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(i) ufgs™ fouima = 3x (& + 2x - 5) 3x % xf + 3% % 2% + 3% % (-5)
3x* + 6 - 15x%
2x X2 +2% Tx+2 % (-2)
=2x* + 14x - 4
g= ufad w3 gne feniver & A6 2 3% + 6xF — 15x
+2x?+ 14x - 4
I +8F - -4

gHeT femidd = 2(x* + Tx - 2)

Eewan 8.8, 2pq (3p - 2q) & 3pq (p + q) BT we§ )

]

i 3pa{p+q  =3pgxp+3pqxq
=3pfq+3pq® (i)
Ipq (3p—2q) = 2pq *3p—2pq % 2q
=6p'q =4pg’ (W)
= (i) § (iii), fEF° wer@= '3

3p°q + 3pq’

6p*q —4pq’

-3pq + Tpq’

o AR

It foy Afani o7 greses uSr a9 |
(1} 4x, x+y (i) (x-3y), x? (i) (x+y) Txy
(iv) (%2 — 9x), 4x (v) (a+h)0 (vi) (ab + be), ab
AgEt & YT &g |
(i} a%bic? ab +bc+ca
(ii) x+y+z 2xy
(iii) p+q-2r 2p
(iv)y b+c—a abc
gEses UsT dd
(i) a*mT(a’-b? (i) 4xy W —(2x 3y)
(iii) a M (a? - 2ab + b?) (iv) 42 T (—x2 — v + 2%)

fenirat & Faw a8 W3 f59er vaAe He usTaa |

(i) XBx+2)-T.dx=1mMT Xx=7 (i)xy(Xy-x).dx=1y=2

| =

(M) yR¥-7+8Ay=0mTy=-1(w)ab(atab+tabc)Ta=2b=1¢c=0
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A () x(x—y),y(y-2) T z(z-%)

(i) 2x (x -~y —-2)MI 2y (z—-v - X)
6. WG : (i) 97 (10n - 3m+ 2) 5 81 (71 - 4m + 5n)

(i)2c(~a+b+o)fEF 2a(a+b-c)-2c(a+b—c)

7. Tx—1f@8 x(2x+7) - 2T 3x (x - 2) + 7 € #7568 § WG|
8. foniTmg 2xy (x+ v+ 2) M2 3y (- xy + x2) € A9 & 5x (xy + v - dyz) 29w |
9. gg-feamuit yas -
(i) pgrwFp+q+r1e IJEFEH T

Lh
5

(a) par (b) p*qr + pg’r + pgr®
(€) pq+qr+pr (d) p*qr + par®

(i) x=2¥ B ¥+ x T HS UITFT |
(a) 4 (b) 6 (c) 8 {d) 10

(i) yxy* y'x T JT5H U3 a7 |
(a) y (b) ¥* () ¥ (d) y*

(iv) xy + 4z + 3Ix MZ 0 TT IETSEH UIT IT |
(a) xytyzt3x  (b)xyz (c) 0 (d) x*y*z’

8.9 guue ?=':' gJU¥ 578 dI€T ddo’ (Multiplying a pelynomial by a pelyne-
mial)

8.9.1 ¥ yst § € Uel &% drET daaT
g, fea € U=t (3a + 3b) & THT € UST (Ta + 4b) 578 gr=r o< 7' | fa= fa AT ufost
L T o Ty
(32+3b) % (Ta+4b) = 3ax (7a+4b) = 3b x (7a + 4b)
(3a = 7a) + (3a = 4b) + (3b = Ta) + (3b = 4b)
= 21a’ + 12ab + 21ba + 12b* (- ab ™3 ba AN'E UE T8
= 2147+ 12ab+ 21ab + 1262 €7 BEN S U feds

fras far = 2la® + 33ab + 12b? =)
HE € sguTt § 3 sov of 3t A AWs uet § B9 T adter @ oF Qust §
fedls aad g €97 YUz der T

Eewes 8.9. gerag
(i) (Ta+b)ymI(a+3b)FI
(i) (2x—y)WF (x+3y) &I
a% (i) (7a+b) (a+ 3b)
=7a (a+3b) +b (a+3b)
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= (7a %a) + (7a % 3b) + (b % a) + (b » 3b)
= 7a® + 21ab + ba = 3b*
=7a® + 21ab + ab + 3b? [ ba = ab]
= Ta*+ 22ab + 3b?
(i)  (2x—y) * (x+3y) = 2x < (x +3y) - y (x + 3y)
=@xxx)+2x x3y) - (y x 1)~ (y * 3y)
= 2x? + 6xy — yx — 3y
= 2x* + 6xy - xy - 3y° [ yx = xy]
= 2x* + Sxy - 3y (AM'S Ut & fedsr 995 '3)
Gees 8.10. gETES
(i) (a+6)MF (b-8) &I
(i)  (2a®+ 3b) M (5a—3b) F
& (i) (a+6)x(b-8)

ax(b—8)+6x(b-8)

ab — 8a + 6b — 48

2a?= (5a — 3b) +3b = (5a—3b)

(2a? x Sa) + (2a% x ~3b) + (3b x 5a) + (3b x —3b)
10a® — 6a’b + 15ba — 9b?

8.8.2 ¥ ust & 35 ust 5% gr= g9

fon = R fEs ust & fdat uer & € udh & €< ot 5% grer a9 a=ar | At fea g
ga5 QuET 6 ue Uy gatdr | dud fan e ue § e ue 5% greT 89 'S TS ue gee
g5 2t Uz yet o Afunr uiiz o 5w fer 3 S uie @ Raet O
(2% +3v) ¥ (x+ 2y + 5) =2x = (x = 2y + 5) + 3y (x + 2y + 5) (FFaaT T fou & Quaar o7%)
=2x+ duy + 10x + Jyx + 6y + 15y
= 2x? + Txy + 10x + 6y + 15y (fa@fq xy = yx)
Sewww 8,11, AA® & (a+ b) (2a+ 3b—2¢)
% (a+b) (2a + 3b - 2¢)
=a(2a+3b-2c)+b(2a+3b-2c)
= 2al + 3ab - 2ac + 2ab + 3b* — 2cb
= 2a%+ 5ab + 3b% — Zac - 2cb

(i) (2a® + 3b) * (5a— 3b)

Il
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nifoNrR (s

1. JEEEH USTET |

(i) (x+3)WT (x+4) (i) 2x+3) M (x - 7)
(i) (x - 8) W= (x +3) (iv) (2% - 3) "= (x — 4)
(V) (2x+ 3y) w3 (x +2y) (vi) (x + y) WF (x - 3y)
(vii) (p — q) " (p + 3q) (viii)(2p — 3q) " (4p - 3q)
|
(ix) (a* — b) MF (a + b (%) —;’Kﬂllmé*[f—%}*]
(xi) (0.2x + 0.3y) ™Z (3xy - 5y%) (xii) (p*-q) M (p™+q)
1. A &d |
B -HNHEF+3)+28 (i) (a*—3) (b*+5)- 8
(iii) (y2 - 7) (x +y) + 13y (iv) (3x —y) (x + 5y) — l4xy
(v) (@a+b)(a-b)+(b+ec)(d—c)+(c+a)ic-a)
_ ,i \
(vi) %x+}f X -i—é}’] éx-k }'I'I x---%}rj

(vi)(p-q@)(p+@Q+(ptq+r)(prqg-1)
(viii) (x+¥) (x-y + xy)} -3xy (x+y) (ix) (£ + m) (£ — m + n)- (£+ m?)
(x) 2*-5x+T7)(x-6)+42

8.10 ISAHE a1 7 (What is an Identity ?)

AHST (x-5) (x+1)=x' — 4x — 5 B 1T HAT x € faR IS, I5 5= x =7 BETAHIT & €=
yTpnt & 9% gatar|

x = 7,& B g5 uymr = [A=-8TF1=238=16
WATUYHT = (7P -4x7-5 =49-28-5
= 49-33
= 16

fER ®eT x =7 € HE BET NS © 9= Uit @ 4% 5999 75|
WA g% x o ffq TT U x = — 3 B2 T8 HT ANaT & 92 Uy or g uzr g9e

fURT=(3-5)(3+1)=-8x-2=16
AT URT = (-3 -4(-3)-5 = 9+12-5=16
femr =gt x = -3, & SE g UAT = HeT UTHT
AT x, & faF =T U BE AM3T ¥ 8 U €7 W8 UST a4 Rae O fAF 7% 497 UTAT
= HeT U a=ar |
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few =¥t o AHST 7 9% € AT He' € BE HE O, § ISAHE afde T |
fer&E (x-35) (x+1) =% —4x - S € I=mE 71

IIAHE WF AlEEE e nige

AHTEEs x2— 5x+ 6 =0 3§

W fermiieds @  x= | S HBE USTTT|

HITUHT =(1P-5x1+6=1-5+6=7-5=2
HATUHT =0
¥gTUTHT 2 HHET UTHT
7= =2
HETUYAT = (2P -5%x2+6=4-10+6=10-10=0
AATUHT =0
HET UTHT = FAT
o= X =38%l
HETUAT =3P -5%3+6=9-15+6=15-15=0
HAT YT =0
HET UTHT = HAT UAT
= x =0
HETYHAT = (0P -5%x0+6=6
HATUTHT = (

HET UTHT % HAT UTHT
AT T T fa AHiEEE x-5x+6=0 T=W x = 2MT 3 € BET A9 J, W feo x e fan J9
W& =TS R &at 4|
few st vt feg afa ree o fa ffa mitees wud o8 & gy farfes Wet € wet ot
Hg e 7, &' fa feg 98 € A9 et @8t A der 31 fer set feo Ism 501 T
8.11 gt ISANE (Standard Tdentities)
g= WAl {35 ISAWaT 19 TrEame! YUS daigr A fa 99z Quiar 95 | feT Ssmva wHT
ffa € uet & 7 & ut #f fan 99 € uet &8 g=T g9d YUF &7 AaT OF |
(a) WE F UfgST WAl (a+ b) (a+ b) A (a + by € ¥'d ggu" &ae It
g< (atby {at+b)(ath)
= afa+b)+b(atbh)
= a*+ab+ba+bh?
= a*>+ 2ab+b? (-~ ab=ba)
few &€t (a + b)? = a* + 2ab +b? (I)
wHT feg feg Aofuz a9 Aee OF fa a3 b © BT »BaT HE' © BEl IS ©
< UH ANS 92 75|

164



(b) T WHAT (a - b)? T foaa gae 77|
{a— b} =f{fa—b)(a—b) =aa-b)—-b(a-Dh)
=a—ab—ba+b*= a’-2ab+b°
fer &9t (a - b = a2 - 2ab + b2 (I
(c) T AT (a+b)(a-b) 'S fege gae o
fem®at(a+b)(a-b) =a(a-b)+b(a-h)
= a*—ab+ ba-b?
fem®et(a+b)(a-b) = a®—b? (IIm)
F=RHE (1), (ID w2 (1) & firat s3mHe faar Jfer T
(dy = WAt fife 99 Qudat Ismw '3 fears a9,
(x+a)(x+b=x(x+b)+a(x+b)
=x*+bxt+axtab
=x2+(at+b)x+ab
Ax+a)(x+b)=x2+{atb)x+ab (IV)
fafenr : Uug aféar fedt T (a+by =o* + 2ab+b* § AT a@aT|
Fater ANS: §9eY Uug, &9, aigT, faGhest wran, @w arife |

fett : 1. dareTg Uug &% JaT gt ays © wiog 3 J »ifgdtt g

(i) a = Sem FAT €7 feq =aar g .
(i) Scm BEEL WS 2cm ST wad & € wifes T: ;
(ii)) b = 2em ¥ © ¥y =9
2. o= few egmfenT wighe Tdar Wa nfes §
gig = foua®

» (11

wb =l

3. gt Svet ot iy a
ZgdT PORS TTHIGES = 4 Wigahyi € H3gesi avas
TIITPLTO S 4=9e® —axa—a | =
2 npfesFer§3988 =2 “a % b=2ab £ =
ToOT MTNR €7 ¥3de® = b = b= b’

AT HEges 2T 99 = a2+ 2ab + b?

STETPQRS SFgv™ =aib
=oar PQRS €7 43988 = (ath) (ath) = (ath)’
. few =21 =991 PQRS 7 4306 = 4 wiig3mi © u39es’ €' A
(a + b)> =a® + 2ab + b?
faghd= : (a + by’ =a? + 2ab + b?
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U.1. (at+b) ©r ferfg= gu fad|
E39- a® + 2ab + b
U.2. (3x+2y)’ & IIANF (a+h)’ = a’ + 2ab + b* €T TIF g€ I fenlzz au Ew fay )
€39- 9x? + 12xy + 4y
U.3. 101°€" IFAHF (a+b)’ = a* + 2ab + b* €1 29T &9€ ¥ HB U &9 |
€=39- 10201
8.12 A" & Quiiar (Applying Identities)
g WAt Byiar fa Iomet & Guiar % fenivat ©f o= & 5oz of wirs w3 =ubyr
Idla &% Jd Haw 7 |
Gewas 8.12. SN (1) Buler a9€ JE usT a9 :

(i) (x+2y)* (i) (107)* (iii) (2x+2y)*  (iv) (10.1)°
& (D) (x+2y) = (x)* + 2(x) (2y) + (2y)* [(a+b)? = a? + 2ab + b7]
=x? + 4xy +4y*

(i) (1079 =(100+7)*= (100F +2 % 100 x 7+ (7 [(a+b)*=a? + 2ab + b¥]
= 10000 + 1400 + 49
= 11449
(i) (2x +2y)? = (2xP +2 % (2x) 2y) + (2y¥ [(ath)’ =a® + 2ab + b7]
= 4x* + 8xy + 4v*
(109 +2 %10 = 0.1 + (017 [(a+h)? = a’ + 2ab + b’]
= 100 + 240,01
= 102.01
&z« Al fog S fa IamiE &% greT gasT, fRdt arer &8 S99 AT o3 viAs T
Segas 8.13. ISANT (1) & Ut 592 TR Y3 89 ¢
(i  (p-3qF (i) (s —3y)* (i) (98) (iv) (9.9)

(iv) (10.172=(10+0.1)

9 () (p-39° = (2pP-2(2p) (39) + 3q)* [(a-—b)'=a’~2ab + 1’|
= 4p? 12 pq + 9¢?
(i) (x-3y) = (P-2(x) BY)+GyF  [(a-b)=a’—2ab+b7

= x*— txy +9y?
(i) (98)?=(100-2) = (100)*2(100) (2) +(2)* [(a—Db)*=a® - 2ab + b?]
= 10000 — 400 = 4

= 9604
(iv) (9.97=(10-0.1= (10)* -2 x 10 x 0,1 + (0.1) [(a — b)*=a? — 2ab + b?]
= 100 - 2+ 001
= 0801
Geas 8.14. I3 (I0), & Quder a9 a¥ 4% a3 ©
(i) 991° -9 (i) 198 = 202
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(iii)

(if)

(i)

(1v)

Gewas 8.15.
(i)
(v)

(ii)

(iii)

(iv)

Grme o [medn]Indn

9912 g2 = (991 +9) (991 - 9) [(ath) (a-b) = a? — b?]
= 1000 x 982
= 982000

198 = 202 = (200 - 2) (200 + 2)
= (200)* - (2)} [(at+b) (a-b) = a* — b7]
= 40000 — 4
= 30006

(3+2n) (3 -2n)= (3¥-(2n) [(ath) (a-b) = a* — b?]
= 0 - 4p?

3 3 1/3 3 1
Em+5ﬂl Lzm = Eﬂj
2 ik
L[] v an-2-v)
%mi . %nl

FIAHA (x + a) (x + b) =x* + (a + b) x + ab & Guar gav T USTad |

104 % 107 (i) 501 x 503 (iii) 97 x 104  (iv) 2y + 3) (2y + 6)

Bp-7) (3p + 8)

104 = 107 = (100 +4) (100 + 7)
= (100P+(4+7)x100+4 <7 ffEx=100a=4,b=7]
= 10000 + 1100 + 28
= 11128

501 = 503 = (500 + 1) = (500 + 3)
= (500P+(1+3)>500+1%3 [fEFx=500a=1,b=3]
= 250000 + 2000 + 3
= 252003

97 x 104 = (100 - 3) = (100 + 4)
= (100F + (=3 +4) x 100 + (-3) (4) [[F&F x=100,a = -3, b=4]
= 10000 + 100 - 12
= J0O088

27+3) 2y+6) = (yP+ (36 2y +3 =6 BT x =2y, a=3, b=6]
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4y?+9 x 2y + 18

4y* + 18y + 18

(v) (3p-7) (3p+8) = (3p)*+ (-748)(3p) + (-7) * (8) [f¥F x = 3p, a=—7, b=$§]
op’ +1 = 3p-—36

op? + 3p — 36

G=as 8,16, AI® AT |

a5

2.

(i) (3p+t2q)’ - (3p-2q)° (ii) (2ab + 3be)® — 12ab’c  (iii) (x+5y)° — (x+¥) (x-¥)
) Gpt2g)’ - Gp-29)
[(3p) + (2q)* + 2 = 3p » 2q] - [(3p)* + (2q)* - 2 = 3p = 2q]
= [9p* + 4’ + 12pq] - [9p® + 4 — 12pq]
= 9p*+4q’+ 12pq - 97 —4q’+ 12pq
= 24pq
(i) (2ab + 3bc)* — 12abc
{2ab)® + (3be) + 2 = 2ab = 3be — 12ablc
4a’b? + 9b%c? +12ab% — 12ab’c
4a*h? + 9b%c?
(ili) (x+5y) = (xty) (x=y)
= X+ [5¥) +2 nxx 5y - [x—¥]
X+ 2592 + 10xy — 22 + ¢2

26v* + 10xy

s e AR

o w

ga< IIAHE @ TIT Fa¢ J¢ JBT (BT ¥ grEaes uIT a9 |

Il

N

(i) (x+y)(x+y) (i) (v+2x)(v+2x) (iii) (a+ 7b)(a+ 7b)
1 ) 1
(iv) (2a-b)(2a-b) (v) (2x-3y) (2x—3y) (vi) X—Ejr} X -E}r]
(vii) (2x+3y) @x+3y) (viii) 101 x 99 @ |x+Z] -l]
Ix 3};3 3}r‘i B

(xiil) (q + p) (p — @)
FIANE (x+a) (x +b) =x*+ (a+ b) x + ab T Gutiar gow ¥ T fafiput FIm ag |
i (x+2)(x+3) (i) (x+2)(x-35) () (x-7ix+3)
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-
-

(iv) (4x+35)(@x+1) M Tp+6)(7p-3) ) (3 -1) 5y*+2)

gae IFANGT e Butier gev 9F J& faw =gar § Fes a9 |

2

() (xy+ 3z (i1) EK %Y

(iii) (-a+c)(-a+c)=(-a+c)y (iv) (1.2p — 1.5q)*

(V) (x*+3y2) (vi) (x-y*z)*

H% &9 |

(i) (x+3yP+ (3 +xlyp (ii) (2Zm + Sn) + (2o +5mp
(iii) (ab +bec)* — Zab% (iv) (9p — 5 - (9p + 5q)
Jat fefunit & fitg a3 |

() (a+by—(a—b)=4ab
(i) (2x+3y) (2x-3y) + 3y — 52) 3y + 52) + (52— 2x) (52 + 2x) =0
(iii) (2x+ 5)% - 40x = (2x - 5F

(iv) G-y)F+E+y)=2E+y)

a2 FImeT o Quttar ae I¥ Jo* fafent § Fo a9 1

(i) 99 (i) 1032 (i) 5.7

(iv) 9.8 (v) 71 % 69 (vi) 1.02 = 0.98
a® — b2 = (a + b) (a— b) @ Guirgr FEe IT I&T fefipnt & I a1
(i) 153%— 147 (ii) 64* — 36

Qi) (LOSP-(95F (v)12.1*-7.9°
(x +a) (x + b) =% + (a + b) x + ab ¥ QUEHTT Fqge IT T& [Bfepst & T® aF |

(1) 105 = 102 (i) 3.1 =52 (111) 46 x 42
(iv) 103 = 94 (v) 93 %92 (vi) 103 x 9.8
sg-feasut ums
(i) ST YT IF (a+ by =

(a) at- b? (b) a2+ b2+ 2ab  (¢) a2+ b?—2ab  (d) a2+ B
(i) SIMFTYTTET: al-2Zab+ b= ...

(a) (a-bh)? (b) a-t? (c) a-b (d) a®~b?

(i) SIAHE UdT &d : (at+b) (a-b):
(a) a'+b? (b) a*-b (c) a*-b? (d)a-b
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(iv) SSHHE YdT a4 : (xta) (xtb) =+ ... ¢ 42 T
(a) a®b, ath (b) (at+h), ab (c) a*+b?, atb? (d) a-b, ab
(v) (y+5) (y-5) & 9% 995 B, €a= IIANT 9|

(a) (a+bP=2a+2ab+ 1 (b) (a — b}*= (a*—2ab + b))
(¢) (a+b)la-b)=a—b (d) a®+ b= ab
s BT BN u o
(vi) EP""E‘I. EP“;Q GG
L 32 2, 4 _2 i ~
(a) 213' 3'-'1 (b) F' gq (e) 11' 3'-'1 (d) P gq
(vi) (2x-3) (2x+5), € I=aEH YUI 95 BT foos g9 Iong ot =93 a1t
AT 71
(a) (a+b)(a-b=a-b (b) (a + b)* = a* + 2ab + b*

(€) (x+a)(x+b)y=x+(atb)x+ab (d)(aby=a—2ab+H’

(viil) HaT (2p+3q) M (2p-3q) fa& nifez &t gt o 3T 8F wifes e uzeew
ugTaq |

(a) 2p+3g? (b) 4p*+3¢ (c) 4p*-9q? (d) 6pig?

ye @ ufeaw

fmmﬁ:wfﬁe’tua?ﬁrﬁ* gnie fefenast .

giT aifeisa fevaa, fere ue W3 grear e ulgee a5 © Wor a5 [

HEE MT [EF uer & gresdy oFE € Gor 95|

YT & ERE & Har 75 |

FouT »T fenimar @ 69 »ige ads & Gar a5 |

fea yel, € yel w3 (G5 uel § ere & Gar 75 |

FHE WT MRS YET S8 vigg aos © ol a5 |

FOUT §iF aifesa feniaa & A5, weree W3 Gost 5 grer ads € Gar a5 |
fenirat of graT euar »ifes O HFTes #F W™ © Mess UST a5 & Gar 5|
FIANET §9 wEaEl M3 [ER arEaal & s fdeal @ eage gar a5 )

L] L] L] - L] - L] - L]
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ue e

M| Sxv 5

~3zy 3
()| 2

2x

-3z -3
i) 4xy? 4

472 —4

3xvy 3
{iv ab 1

be 1

abc 1

7 7
_ X 1
L] 6

| 1

6 6

2xz )
) ffsuat (i) fEa u=t
(vi) FE& uet  (vii) f3& uet
(xi) & U=t (xii) f2& ust
(1) Jab — 6a’b + abc + 3
(1) =%+ dy + Tz—2xyz - 8
(i) 0
(iv) 2y+2z
) Xy dxy+9
) =x+yv+2

S3ouen
wifowrm 8.1
U= S| 4
(vi) | 0.3a 03
—0.5ab 0.5
o | XY 1
(il 5 2
Tx 7
3 3
2 2
(viii)}f 0.4a 04
~0.6ab 06
IR 3
(ig) | 3xy? 3
Sxyz 5
—Gy? 5
(i) ffg vt (iv) TSt (v) T uEt

(viii) 35 uet
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8 (D abc + bc — cd (11) X -y +2z-4xyz (i) =y
(iv) 3Ixytsixtdy—3z (v) O05xy+ 03z (vi) O.lxyz+ 01xy*
9. 9+ 10x—-2
10. (1) a (i1) © (i) a (iv) b (v)c (vi) © (vii) b
(viii) b {ix) ¢ (x) a (xi) b
mifeniH 8.2
1. (i) ffa uet (i) fEe ust
2. (1) 24xy (i) 8x (ii1) -12pq (iv) —24p?%q (V)0 (vi) 2pq (vil) 6p°r (viil) 2pr
3. xy; 8fm ; 60mn ; 12mn?; 117 a’bc ; baxpr ;, 12mn?p ; 2pgr; 21x%?
4. | ufost ffa uet=—s| 2x Sy 2x3 3xy Txly  -Oxiy?
owet g uet |
-2y 4xy [0y= Axy oxy* 14x%*  18x%#
3x bx? —15xy i —Ox?y 2Ixly 2Ty
y? 2xy? ~5y? 2xy? -3xy? T3y Ox%y?
—~dxy ~8x%y 20xy? -8xy  12x%? 28x%y? 36x%y?
2Zx*y? 0y —10xfyY dxdyr 6x%y 14y —18x4y
5. (1) -84x® (i) 24xyz? (i) % (iv) albictd  (v) 24?2 (vi) —12pige?
6. (i) xyz (i) 24xyz (ui) l4abe (iv) 120/mn  (v) a*b’c’ (vi) %
7. @) a (i) b (iii) ¢ (iv) ¢ (v) b (vi) c
wifen 8.3
Lo (1) 4x® +dey (i) X33y (1) Tx®y + Tay?(iv) 4x® — 36x* (v) 0 (vi) a*b? + ab’c
2, (1) a'b’c? +a'bic* + a'bic’ (i) 2x%v + 2xy* + 2xyz
(iii) 2p? + 2pq — dpr (iv) ab*c + abe? — a’be
3. (i) a*-a®? (i) —8x%y — 12xy* (iif) a® —2a% + ab?  (iv) —4x® —dx®y* + 8x°

(1) 8x —4xy — 13y - 10
(ii) Tém + 4mn + 21n#
(ui) 2ab— 3bc - ca - Sabc
(iv) 2x -3y -4z 10xyz
(v) 0.4x+ 0.6v— 1lxyz
(viy ab— 3bc+ 3cd — 3abe
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*

-21
()3 +2x-7;-2; — (iii) ®'y* —x'y* ; 4

() 2y-Ty*+8:8:-1 (iv) a’b + a’b* + a’b%c ;
(1) X—xy+y:—yz+ zZ2—-Xz

(i)  2x* — dxy — 2xz + 2yz — 2y?

() 107+ 50/ + 5im

{i1) 4bc — 2ab + 2ac — 2a?

(i) 5>+ 6x — 6 8. 6xy" — 29xyz
()b ()b (e (iv)c

mieH 8.4
() =x*+9%x+20 (vi) x*—2xy -3y
(i) 2x2-11x-21 (vii) p*+2pq - 3¢*
(i) x*-5x-24 (viii) 8p* — 18pq + 9¢*
(iv) 2x2—1lx+ 12 (ix) a® +a*bh®—ab-b*

. 7 2
(v) 2x*+ Txy + Gy? (%) Ex?‘ —xy+x2y2—;
(xi) 0.6x% +0.5xy* - 20y* (xii) p* - ¢’

(i) y*+19 (i) a%b*+ 5a2— 3h2 - 23
(ili) ¥ +¥y® - 7x +6y (iv) 3% - 5y*
(v) 0 (vi) x*-¥*
(vii) 2p*+2pq-1* (viii) x* — ¥ — 2x%y — 2x°
(x) In+ mn-2m? (x) 2x¥—17x*+37x
wifsni™ 8.5
(1) x*+2xy+y? (i) y*+duy + 4x2
(iii) a*+ I4ab + 49bH2 (iv) 4a*—4ab +b*
I
(v) 4x*— 12xy + 9y? (vi) x* xy+ Zyz
(vii) 4x2 + 12xy + 9y* (viii) 9999
F!
(ix) x° T (x) 2200
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-~
L]

(x1)

gl '
x g 9
4 4 16

(xiii} p* —q°

(i)
(iit)
(v)

(1)

(1i1)
(v)
(1)
(1i1)
(1)
(1ii)
(v)
(1)
(111)
(i)
(11i)
(v)
(i)

(vil) ¢

¥+ 5x+0
X2—dx - 21
49p=+ Ilp - 18

xiy* + bxyz + 922

a? — 2ac + ¢*

x + 9yt + 6xiy?
2+ xhy + 120y + 9%+ 9
a’h? + b2
9801

26.01

4899

1800

0.20

10710

2254

R5.56

b (i) a

(wiii) C

(i) ¢

(x11) 2484

(id)
(iv)
(vi)

(ii)

(1v)
(vi)
(ii)
(iv)
(if)
(iv)
(vi)
(i)
(iv)
(1i)
(iv)
(vi)

X —3x— 10
16x2 + 24x + 5
25yt + 597 - 2

4 9 .
—X 2xy +—
9 ¥ 43’

1.44p* — 3 .6pg + 2.25¢*
x2+y* 2t — 2xy'n
29m* + 25n* + 40mn
-180py

10609

96.04

0.9996

2800

84

26.52

G682
100.94

(iv) b (V)¢

174

(vi)

b



